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Use the map of Biri area above to answer
questions 1 to 7.

1. The climatic conditions of the Northern part
of Biri area is
A. cool and dry B. hot and dry
C. cool and wet D. hot and wet

2. The approximate distance of the murram

road is
A. 13km B. 15km
C. 10km D. 20km

3. Tourist who visit the game park go back to
the hotel using
A. the tarmac road
B. the railway line
C. the airstrip
D. the murram road

4. The people in the above area are mainly
A. Muslims B. traditionalist
C. Christians D. pagans
5.  Which one of the following i s true about the
above area? ,
A. There is even population distribution of
people.
B. The railway line is mamly used to transport
minerals
C. The main cash cross is tea and coffee
D. The main source of water is borehole
6. Land in Biri area generally slopes from
A. East to West
B. North West to North East
C. West {o South v
D. North West to South East
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Which one of the following shows that the
Southern part of Biri area receives moderate
rainfall?

A. Presence of a game park.

B. Presence of low population.

C. Presence of grass.

D. Availability of shrubs.

Which one of the following statements
correctly describes the position of Africa?
A. It lies South of the Mediterranean Sea.
B. It lies to the East of the Indian Ocean.
C. It lies to the West of the Atlantic Ocean.
D. It lies North of the Equator.

Schools promote good behaviour among
pupils through

A. maintaining school traditions

B. exchanging of cultural practices

C. taking part in music festivals

D. teaching them moral values

The following statements describe a
traditional system of government.

(i) There were chiefs.

(ii) Rulers controlled trade.

(iii) Leadership was through hereditary.

The system described above was practised by
A. Ameru

B. Maasai

C. Nyamwezi

D. Baganda

Which one of the following is problem facing
industries in Eastern Africa?

A Inadequate labour in the region.
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B. Overproduction of goods.

C. Lack of land to establish industries

D. Competition from imported products.
Which one of the following climatic regions
in Africa experiences rainfall throughout the
year?

A. Mediterranean climate.

B. Equatorial climate.

C. Savannah climate.

~'D. Temperate climate.
13.

Which one of the following groups is made
up of Western Bantus?
A. Akamba - |B. Ameru
Pokomo Aembu
C. Oromo D. Abakuria
Buriji Abagusii

The revolution of the earth around the sun
causes

A. sea waves

B. ocean currents

C. seasons

D. phases of the moon

15. The following are volcanic mountain except

A. Mt Elgon

B. Mt. Longonot

C. Usambara mountains

D. Mt. Suswa

Use the map of Africa below to answer
questions 16 to 19.
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The climatic zone marked L is
A. mountaineous
B. mediterranean

C. equatorial

D. tropical

The lake marked R is called

A. L. Victoria B. L. Tana
C. L. Albert D. L. Kyoga

The winds marked Z are

A. Harmattan winds

B. Westerlies winds

C. North East monsoon winds

D. South westerly winds

The shaded area marked S has high
population mainly due to

A. reliable amount of rainfall

B. availability of mineral resources

C. presence of large towns

D. availability of good roads in the area
A school routine promotes learning by

A. setting rules to be followed in a school
B. making pupils pass school tests

C. ailocating time for school activities

D. teaching pupils moral values
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The main problem facing mobile
telecommunication in Eastern Africa is

A. theft of mobile phones

B. low levels of literacy

C. poor roads in rural areas

D. inadequate network coverage

Which one of the following is the coffee
growing area in Ethiopia?

A. Ogaden B. Omo

C. Kaffa D. Danakil

The originalhomeland of the Luo people was
A. Barh-el-Ghazal region

B. Horn of Africa

C. Pubungu Pakwah

D. Congo basin

Which one of the following statements about
the Kings of Buganda Kingdom is correct?
A. They started the planting seasons.

B. They controlled trade.

C. They made herbal medicine.

D. They were chosen by the people.
Which one of the following is a drainage
feature in Eastern Africa?

A. Okavango Swamp.

B. Danakil depression

C. Fouta Djaton plateau

D. Lotikipi plains

The largest language group in Eastern
Africais

A. Bantu B. Nilotes

C. Cushites D. Semites

The person incharge of elections at a polling
station is a

A. returning officer

B. polling clerk

C. commissioner

D. presiding officer

The arm of the government that deal with |

solving dispute is
A. cabinet B. judiciary
C. executive D. legislature

A person bgcomes the speaker of the county
assembly through

A. elections by members of the county assembly
B. election by voters in the county

C. nomination by a political party

D. appointment by the governor

SECTION II

CHRISTIAN RELIGIOUS EDUCATION

Which one of the following commands was

given to Adam and Eve after creation? .

A. Keep the snake away from the garden of
Eden.
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~ the sin of taking Uria’s wife was

69.
. done by prophet Elisha?
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B. Make clothes from leav '«

C. Have many children ¢ “li *the e=iity

D. Worship no other God it me.

Noah accepted to build the ark be:a sc

A. he wanted to obey God’'s command

B. he wanted to keep the animals

C. he wanted to save his family

D. God was sending a flood

The son of Jacob who was sold as a slave
to Egypt was

A. Benjamin B. Joseph

C. Judah D. Simeon

When Moses was born his mother hid him
because

A. the Israelites were working as slave

B. she wanted to dedicate him to God

C. Israelite baby boys were being killed

D. he was a beautiful baby boy

During the exodus God led the Israelites
through the desert at night using

A. a cloud

B. a strong wind

C. arainbow

D. a pillar of light

The lIsraelites were given the ten
commandments by God in order to

A. make them live holy lives

B. enable them reach the land of Canaan
C. enable them defeat their enemies

D. stop them from complaining

When Hannah visited Shiloh she prayed to
God for ‘

A. long life B. ason

C. wisdom D. wealth

The prophet sent by God to tell King David

A. Samuel B. Ananias
C. Nathan D. Elijah
Which one of the following miracles was

A. Calling for fire from heaven

B. Walking on water

C. Multiplying fish

D. Healing Naaman

On the night Jesus was born his parents had
gone to Bethlehem to

A. worship God

B. attend the Passover feast

C. get registered

D. visit their relatives

At what age was Jesus taken to the temple
for dedication?
A. Eight days
C. Twelve years

B. Forty days
D. Twelve days
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When John the baptist saw Jesus he called
him

-A. the lamb of God

B. the light to the gentiles

C. the king of the Jews

D. the eternal father

Which one of the following disciples of Jesus
was a tax collector?

A. Philip B. Matthew

C. Thomas D. Nathaniel

Which one of the following parables of Jesus
teaches Christians to be humble when
praying?

A. The friend at midnight.

B. The ten young women.

C. The two house builders.

D. The Pharisee and tax collector

Jesus taught his disciples to store their
riches in

A. safe places B. their hearts

C. banks D. heaven

The demon possessed man was healed by
Jesus at

A. Gerada B. Bethsaida

C. Cana D. Nain

Which one of the following events took place
when Jesus was praying at the garden of
Gethsemane?

A. A star appeared in the sky.

B. A cloud covered Jesus.

C. An angel came down to him.

D. Moses and Elijah appeared.

What were the disciples doing in Jerusalem
when they were filled with the Holy Spirit?
A. They were fasting.

B. They were praying.

C. They were sleeping.

D. They were preaching.

Paul was known as the apostle to the
gentiles because

A. he preached to non Jews

B. he performed miracles

C. he persecuted Christians

D. he was a tent maker

Ananias and Sapphirah were punished by
God because

A. they sold their property

B. they committed adultery

C. they worked on a Sabbath

D. they lied to the Holy Spirit

Which-one of the following books of the New
Testaments is a gospel?

A. Acts B. Ephesians

C. Mark D. Jude
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People performed libations in traditional
African communities in order to

A. share with the dead

B. worship ancestors

C. teach moral values

D. help the needy

Which one of the following is a common
belief both in traditional African and Christian
communities?

A. There is life after death.

B. God lives in heaven.

C. Holy people will resurrect.

D. Jesus will come again.

In traditional African communities children
are named after their relatives in order to
A. please their parents

B. make the children famous

C. keep the family lineage

D. teach them moral values

Which one of the following specialists lead
in offering sacrifices in traditional African
societies?

A. Herbalist

B. Priest

C. Magician

D. Medicine man

Salome a standard seven girl helped an
old woman carry a heavy basket. She
demonstrated the value of

A. humility B. courage

C. patience D. kindness
Children are advised to respect their parents
because

A. this is what God requires

B. their parents pay their school fees

C. their parents are old

D. their parents love them

Which one of the following is the best activity
for Christians to do when they have free
time? -

A. Visiting the sick.

B. Attending patrties.

C. Playing games.

D. Reading newspapers.

Christians donate food to famine victims in
order to

A. obey the laws of the country

B. do the will of God

C. getrid of excess food

D. become known in the society
Christianity in Kenya was introduced by

A. Arabs

B. slave traders

C. African chiefs

D. European Missionaries
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Below are statements about a town in
Eastern Africa.

(i) It is the headquarter of a region body.
(ii) It is located in rich agricultural area.
(iii) It is served by a railway line

The town described above is

A. Jinja

B. Arusha

C. Mombasa

D. Dodoma

Which one of the following game parks is
correctly matched with the country it is
found?

A. [Murchison falls | Kenya

B. [Amboseli Ethiopia

C. |Selous Tanzania

D. |Omo Uganda
Desert experienced high daytime

temperature because

A. they have cloudless skies

B. they experience strong winds

C. they have little vegetation

D. they have large area covered by sand

The Agiriama people fought the British

during the colonial period because

A. they had strong leaders

B. they had a well trained army

C. they made their own weapons

D. they wanted to preserve their
independence

The main type of coffee growing in Uganda is

A. Arabic

B. Robusta

C. Ruiru eleven

D. non of the above

Three of the following statements about the

migration of the Abagusii people are correct.

Which one is not?

A. They were looking for better pastures.

B. They settled in highland areas.

C. They entered Eastern Africa from the West.

D. They migrated due to overpopulation.

Which one of the following groups of fish are

caught in Lake Victoria?

A. Tuna and mullet.

B. Kingfish and eel.

C. Tilapia and Nile perch.

D. Parrot fish and tuna. ,

The following are statements about a relief

region in Africa.

(i) It covers large areas of Eastern and
Southern Africa.

(ii) Average altitude is 900 metres.

(iii) It is almost flat at the top.
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The relief region described above is

A. highland region

B. Rift valley region

C. Coastal lowlands

D. plateau region

Kenyan citizens practise patriotism in order to
A. show concern for their country

B. obey the laws of the country

C. earn their living

D. be respected by leaders

A group of people who are born almost at
the same time form

A.aclan B. a family

C. an age group D. a community
Use the diagram below to _answer
questions 31.

The diagram illustrated above shows the

formation of

A. a delta

B. an ox-bow lake

C. an estuary

D. a tarn lake

Which one of the following statements about

Haile Sellasie is correct?

A. He led his country to independence.

B. He formed political parties in Ethiopia.

C. He promoted the use of Kiswahili.

D. He participated in forming organization
of African Unity (OAU).

The main reason why air transport is not

commonly used in Eastern Africa is that

A. it is expensive

B. it has many accidents

C. countries lack good airports

D. goods cannot be carried by air

John a standard six pupils was forced to do

homework during break time. The type of

human right he was denied was

A. freedom of expression

B. freedom of movement

C. freedom of association

D. freedom of opinion

Mountains that form due to twisting of

underneath rock are

A. fold mountains

B. block mountains

C. residual mountains

D. volcanic mountains
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. Beeffarming in both

The following are requirements for growing
a certain crop.

(i) Soil which need not to be very fertile.
(ii) Rainfall of about 680mm and 1200mm.
(iii) A sunny dry period during harvest.

The requirements listed above favour the
growing of

A. sugarcane B. coffee

C. bananas D. sisai

Which one of the following Island nations
are found in the Indian Ocean?

A. Madagascar and Cape Verde.

B. Seycheles and Sao Tome and Principe.

- C. Comeoros and Mauritius.

D. Cape Verde and Sevcheies

People are encouraged to live in peace in
the society in order to

A. be rewarded by the government

B. enable the country to develop

C. enable people live in urban areas

D. set good examples in the society
Which one of the following groups is made
up of communities that resisted Eurcpean
colonial rule?

A. Maasai B. Abawanga
Amer Akamba

C. Abagusii D. Agikuyu
Baganda Maasai

VWhich cne of the following rivers does not
have an inland drainage?

A. River Omo

B. River Ewaso Nyiro

C. River Nzoai

D. River Limpopo
Kenyza and Tanzania is
faced by the problems of

- A. inadequate pasture in the dry season
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B. inadequate market for beef products

C. poc-r roads in grazing area

D. lack of labour in beef ranches

What will be the time in Mbandaka 18°E
when the time in Berbera 46°E is 10.30am?
A. 2.52pm B.2.5Zpm

C. 8.20am D. 9.00pm

The method used to transport soda ash from
lake Magadi is

A. water transport

B. air transport

C. road transport

‘D. railway transport

Which one of the following is a secondary
need in a famiiy?
A. Food

C. Clothes

B. Television
. Shelter

45. Days and nighis

46.

on earth are caus
A rotation ¢f the earth

B. detiection of winds

C. revolution of the earth

D. movement of the moon

Which one of the following Eurcpean nations
did not have a cclony in Eastern Africa?
A. France B. italy '

C. Briain D. Portugal

The diagram below _shows a fishing
method.

ed by
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The fishing method illustrated in the diagram
ahove is

A. trawling method

B. long lining method _

C. purse seining method

D. net drifting method

VWhich one of the following countries does
not experience desert climate?

A, Mauritania B. Niger

C. Nigeria D. Sudan

The main importance of banana growing in
Uganda is that

A. roads have been built in growing areas
B. they have led to growth of towns

¢ they provide people with staple food

D. they are used to make livestock feeds ‘
Which one of the following people is involved
in external trade?

A. |Jerctich | Selis clothes at a open
air market.

B. {Ombati |[Import rice from Asian
countries.

C. |Chacha |Makes furniture at a local
market.

D. | Nyawira [Sells maize to a flour mill
in Nakuru.

Which one of the following statements about
planted forest is not correct?

Tre=s provide pulp for paper making.
Trees take more than 30 years to mature.
. Trees are grown in straight rows.

. Trees provide tlmberfor furniture making.
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